XYZ,,=96.42 , 100.0 , 82.49 69 Y,=Y-50 59
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by=tylz/y 6o,
=1, byy=-04 o
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6 OstwaldFarben (o)

von maximalem (m)C,g im
linearen Farbenraum (Cyg . Y)
Lichtart D50, ¥,,=100 Y,=0 00
Name Bereich X, Y, 7, ¥, Y, A A
R, 570775645 4011 021 06169 038 598 401
Y, 497756313 9404 441 04577 05178 573 468
G2, 474 575 2352 62.76 17.19 0.2273 0.6065 526 526¢

C, 380_570 31.66 60.08 8244 0.1817 0.3449 491 598 Parameter:
B, 380_496 1348 615 78.24 01377 00628 468 573 Y & Name
M2,575_474 73,00 37.43 65.46 0.4153 02127 5260526 i

45754
W, 380_775 96.42 100.0 8249 0.3457 0.3585 100% Lichtart D50
N, 380775009 0.1 008 0345503583 0% Y,,=100 Y, =0

Z, 380_77517.35 180 14.84 03457 03585 18%
BGR71-2A




